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=4 Rig | HE | H BETEHR m%
IlAERA BT 50 600 30,000
21 8FIE B 50 510 25,500|mEBE L
3lom 7yt (E=PE] 24 650 15,600|# 4> O =
4[Number (E=PE] 24 780 18,720
5| 7L—4& X (E=PE] 24 880 19,200
6| 70T 747 A ¥ 12 1,100 13,200
Tl NERIRAR AT 12 1,000 12,000
8|%E&E & I AT 12 990 11,880| X8 X X I )&
IINHK = & 5 DfEEREE AT 12 670 8,040
I0{NHKZ & 5 0 A ¥ 12 670 8,040
11{N H KiER DR = AT 12 700 8,400
2|z - Prfy AT 12 880 10,560
13|74 — b /XA AT 12 1,290 15,4807 B B EF K
14| F — Va5 ATl 6 1,500 9,000
5|1F %7077 AT 12 726 8, 7T12| AP
16|H E b EFERALGT & AT 12 398 ATT6|=FIAMBE RS
17| FLrom= BT 24 590 14,160| & D IEF v F >~
18| med AT 12 460 5,520
19|Cut AT 12 980 11,760
20| R EE B A ¥ 12 1,650 19,800
21| REHET A+ 12 880 10,560
22|CanCan AT 12 890 10,680
23 7 =21 AT 12 990 11,880|> X' v 7 R
24| =TT ATl 12 1,500 18,000
25| B FINewsh HH % AT 12 660 7,920(8E L EXEZEFHES
26[3RREZE A ¥ 12 1,100 13,200
27/MZ= 7 7 >~ AT 12 1,450 17,400
282 EH D EH0.1.2 AT 12 460 5,520
9(zEbnet AT 12 460 5,520
[z EDLDEHLEDRR AT 12 460 5,520 (LB HE
3l{c &b &b ERRR A ¥ 12 460 5,520 (LB HE
2|97 - KAV A b A ¥ 12 780 9,360| Bk ZE= R F
3BY 74 A+ 12 1,100 13,200
34|THE?21 A 12 780 9,360
35|LEE A 12 850 10,200
36|CDY v —F L =TI 4 1,300 5,200
37|BExRAE A+ 12 980 11,760
CRIVNSMAES A+ 12 900 10,800
39|/NERFT BT 12 1,000 12,000
A0/ NG9 1E D BT 12 1,000 12,000
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AFTEE A4 2 R b AT 12 1,040 12,480
42ISTORY ATl 12 1,000 12,000
4315 (F1£%) ATl 12 1,100 13,200
A4 H5R ATl 12 1,045 12,540
A5|72K EADSLE AT 12 810 9,720
46| D Fih ATl 12 880 10,560
ATNR « T4 > F ATl 12 850 10,200
ABILWI BN DED ATl 12 460 5,520
A9| R RNER ATl 12 1,000 12,000
50({D V D &EEIFL(E T~7= ATl 12 990 11,880
bl{EREI=E A& 12 1,650 19,800
R2(EREY —< v ATl 12 790 9,480
RBARNL YT 4 ATl 12 780 9,360| %
S4|H#EP C21 ATl 12 950 11,400
SbE[EHE~ & — ATl 12 840 10,080| 2R E#E
56[Newton A 12 1,190 14,280
57|non + no AT 12 820 9,840
B58|/NR Ay biR—Ib ATl 12 990 11,880 o i S

HE

BN KTV b hAd v ATl 12 980 11,760
0[N —R—L BT 12 950 11,400
61|BE-PAL ATl 12 1,350 16,200
62|3HY AT 12 870 10,440
63| A NFw AT 12 840 10,080
64|pen ATl 12 990 11,880
65| F 5% A+ 12 1,200 14,400
66|SCEHFK ATl 12 1,100 13,200| =M A BE RS
67|12 E AT 12 1,500 18,000
68| AR A+ 12 1,265 15,180
69|mini AT 12 1,450 17,400
70| L— AT 12 990 11,880(1 3R
71|lmusica =Rl 12 900 10,800
72IMEN'S NON-NO AT 12 845 10,140
73IMORE AT 4 1,350 5,400
T4IMO E AT 12 960 11,520
75[Lightning (4 ~=>7) ATl 12 1,320 15,840
6|7 v+ —X ATl 12 780 9,360
TNy bR AL b A 6 1,500 9,000
78|BE L~ Y v A+l 12 1,320 15,840
79[LEON (L-#>) AT 12 980 11,760(= v >~
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80|FEsE 38 AT 12 840 10,080

SI{SF~HT v 1= 6 1,320 7,920

82(ELLE DECO b 6 1,650 9,900

BIE=HA K b= H 6 1,290 7,740|B 7L F ¥ X b
BA|BE b EE b B 6 763 A4578|3hLEEEHES
Y Al A A Nl b= 6 760 456075 RF v vEE
86(Ku:nel (&7 xIL) b 6 1,000 6,000

871En L DFh (= 6 1,100 6,600

8|y h—~hHT v (= 6 1,530 9,180

89|k w—x (= 6 1,540 9,240
WIHAREF (= 6 1,100 6,600

91BN & V) b 6 1,290 7,740

92|Fight&Life b 6 1,200 7,200
93IR—=RR—=IL~wHT >~ b 6 1,390 8,340

94 R REFER = 6 950 5,700

95[%° = L b 6 922 5,632

9|x=LWFE/ Z=1] 4 2,200 8,800

97| Z DARFEA T ! Z1] 4 1,320 5,280

9B[E X L DERET == 3 1,540 4,620

99|TRANSIT (FZ > v ) Z=1] 4 1,980 7,920
100|e—=2"7 Z=1] 4 1,540 6,160
101|BZEY vy —F L Z=1] 4 990 3,960
102|WAN (7 >) =1 4 1,650 6,600
103|E%0 ATl 12 1,200 14,400(mE EREEFZ A1
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